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(A)17500 (B)19800 (C)13250 (D)12350 (E)None of these

19. Ramesh spends 20% of his monthly income on children education. Out of the remaining 25% 
he spends on household items, 15% on transport, 15% on medicine and 10% on entertainment. He 
is left with Rs. 3990 after incurring all these expenditures. Find his monthly income?
रमेश अपने मासिकआयका 20% बच्चोंकी सशक्षा पर खर्च करता हैं । शेष का 25% वह घरेलू
खर्च पर खर्च करता है, 15% पररवहन पर, 15% सर्सकत्सा परऔर 10% मनचरोंजन परखर्च
करता है। िभी खर्ों कच वहन करने के बाद भी उिके पाि 3990 रुपये शेष बरे् । उिकी
मासिकआय ज्ञात कीसजये?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)13380 (B)13570 (C)14250 (D)13940 (E)None of these

20. The simple interest accrued on Rs 36000 at the end of three years is Rs. 12000. What would be 
compound interest accrued on the same amount for same time period. (Approx.)
36000 रुपये पर तीन वषच के अोंत में िाधारणब्याज 12000 रुपये है । िमान िमयअवसध के सलए
िमान रासश पर असजचत र्क्रवृद्धिब्याज ज्ञात कीसजए। (लगभग)
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What value should come in the place of question mark(?)in the following questions?

185% of  1359 + 18.5 % of 1319  = ?

(A)1836.456 (B)2234.625 (C)2534.275 (D)2654.325 (E)2758.165
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)25 (B)24 (C )27 (D)29 (E)None of these

What value should come in the place of question mark(?)in the following questions?

144 × 7 + 612 × 4 = ?% of 12800
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 0 (B)415.53 (C)463.45 (D)652.70 (E)461.53

What value should come in the place of question mark(?)in the following questions?

135% of 342 − 342% of 13.5 = ? 
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

√18 + √50 − √32 = ?

(A)7√2 (B)5√2 (C)8√2 (D)4√2 (E)3√2
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(a)in the following questions?

264 ÷ √576 + (11)² + 12 = (?)²

(A)44 (B)24 (C)15 (D)14 (E)12
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What value should come in the place of question mark(?)in the following questions?

(A) 18.25 (B) 19.98 (C) 24.58 (D)65.25 (E)45.85
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What value should come in the place of question mark(?)in the following questions?

13137 ÷ 29 = ? + 4551 ÷ 123 

(A)416 (B)432 (C)453 (D)375 (E)402
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

77 × 89 − 12³ − 212 = ?³

(A)13 (B)14 (C)15 (D)19 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

313 × 17 + 19 × 16 = ?²

(A)65 (B)78 (C)81 (D) 84 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

9 , 15 , 27 , ? , 99 , 195

(A)53 (B)51 (C)54 (D)56 (E)52
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

8 , 40 , ? , 320 , 820 , 2070

(A)100 (B)120 (C)130 (D)125 (E) 140
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

90 , 110 ,  132 , 156 , 182 , ?

(A)207 (B)307 (C)309 (D)323 (E)210
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

14 , 56 , 252 , 1260 , 6930  , ?

(A)31815 (B)38115 (C)41580 (D)45180 (E) 44100
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

358 ,  263 , 187 , 130 , ? , 73

(A)92 (B)90 (C)88 (D)94 (E)100
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Direction (21 to 25 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.21 :- I. x2 +9x + 20=0                           II.  y2 +7y +12=0

Q.22 :- I. x2 +91 =20x                               II.  10y2 −29 y+21 = 0

Q.23 :- I. x³−1 = 0 II. y³ +1= 0

Q.24 :- I. x² −14x + 48 =0 II. y2 + 6 = 5y

Q.25 :- I. 6x2 +13x +5 =0 II. 9y ² + 22y +8 =0
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)88.6342% (B)98.4375% (C)96.4375% (D)78.44656% (E)94.6342%

A number is mistakenly divided by 8 instead of being multiplied by 8. What is the percentage 
of error in the result? 
एकिोंख्याकच गलती िे 8 की गुना करने की बजाये 8 िे भाग दे सदया जाता है। ज्ञातकीसजएकी
उिके नतीजे में सकतने प्रसतशतकी गलती प्राप्तहचगी?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)25 (B) 35 (C) 45 (D)20 (E)40

A sum of Rs 312 is to be distributed among 100 boys and girls such that if each boy gets Rs 
3.6 and each girls gets Rs 2.4, then find how many number of Girls in the class? 
312 रुकच 100 लड़के तथा लड़सकयच ोंमें इि प्रकार बटा गयाकी प्रते्यकलड़केकच 3.6 रुतथा प्रते्यक
लड़कीकच 2.4 रु समलते हैं। कक्षा में लड़सकयच ोंकी िोंख्या ज्ञातकरें?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 237.5%profit (B)37.5%loss (C )33.33%profit (D)33.33%loss (E)None of these

Sangram buys a certain number of toys at 12 per Rs 9 and the same number at 18 per Rs 9. 
If he sells them at 18 per Rs15 does he gain or lose and by what percentage?
िोंग्राम 9 रुकी 12 के दर िे कुछ द्धखलौने खरीदता है और उतने ही द्धखलौने 9 रुकी 18 के दर िे
खरीदता है | यसद वह इन्हें 15 रुकी 18 के दर िे बेर्ता तच उिे सकतना प्रसतशतका लाभ या हासन
प्राप्तहचता?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)3600 (B)6200 (C)7500 (D)6080 (E)None of these

In an election 10% of the voters on the voters' list did not cast votes and 60 voters cast their 
ballot papers blank. There were only two candidates. The winner was supported by 47% of 
all voters in the list and he got 308 votes more than his rival. The number of voters on the list 
was      एक रु्नाव में मतदाता िूर्ी के 10 प्रसतशतमतदाताओों ने वचट नही ोंडालेऔर 60 
मतदाताओों ने अपने मतपत्र ररक्तछचड़ सदया। कुल दच उम्मीदवार थे। सवजेता िूर्ी के िभी
मतदाताओों के 47% द्वारा िमसथचत सकया गया थाऔर उिने अपने प्रसतद्वोंद्वी िे 308 वचटअसधक
प्राप्त सकये। िूर्ी में मतदाताओोंकी िोंख्या थी
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)83 (B)81 (C)87 (D)72 (E)56

The average salary of the entire staff in a office is Rs 250 per month. The average salary of 
officers is Rs 520 and that of non officers is Rs. 200. If the number of officers is 15, then find 
the number of non-officers in the office.
एककायाचलयमें पूरे स्टाफकाऔित वेतन 250 रुपए प्रसत माह है। असधकाररयच ोंकाऔित वेतन
520 रुपए है।और गैर-असधकाररयच ोंका 200 रुपए है। यसदअसधकाररयच ोंकी िोंख्या 15 है, तच
कायाचलय में गैर असधकाररयच ोंकी िोंख्या ज्ञातकीसजये।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)5 3 /17 (B)9 3/17 (C)3 9/17 (D)4 3/17 (E)None of these

Pipes A and B can fill the tank in 5 hoursand 6 hours respectively. Pipe C can empty it in 12 
hours. If all the three pipes are opened together, then the tank will be filled in how many 
hours? 
पाइपA तथा B सकिी टैंककचक्रमश: 5 तथा 6 घोंटे में भरिकतें हैं| पाइपC पुरे भरे हुए टैंककच 12 
घोंटे में खलीकरिकती है। यसद इन तीनच पाइपकच एकिाथखचलाजाये तच ज्ञातकीसजये की टैंक
पूरा सकतने िमयमें भरजाएगा?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)50 (B)45 (C)35 (D)60 (E)None of these

A persons present age is two-seventh of the age of his mother. After 10 years he will be four-
ninth of the age of his mother. How old is the mother after 15 years?
एकव्यद्धक्तका वतचमानआयु उिकी माता की वतचमानआयुका दच-िातवााँ है| 10 वषच बादअपनी
मााँ कीआयु का र्ार-नौवाों हच जाएगा| 15 वषच पश्चात उिकी मााँ कीआयु सकतनी हचगी?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2.1kmph (B)1.5kmph (C)4.4kmph (D)2.4kmph (E)None of these

A man can row a certain distance downstream in 12 hour and return the same distance in 18 
hour. If the speed of a man in still water is 12 kmph, Find the speed of the stream.
एकआदमी 12 घोंटे में एक सनसश्चत दूरी बहावकी सदशा में जा िकता है और 18 घोंटे में िमान दूरी
वापिआिकता हैं। यसदआदमी की शाोंत जलमें गसत 12 सकमी प्रसत घोंटा है, तच धारा की गसत ज्ञात
कीसजये।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1/6 (B) 3/7 (C)1/3 (D)2/3 (E)None of these

In a bag there are 4 white, 4 red and 2 green balls. Two balls are drawn at random. What is 
the probability that at least one ball is of red colour? 
एक बैग में 4 िफेद, 4 लालऔर 2 हरी गेंदें हैं। दच गेंदच ों यादृद्धिकरूप िे सनकालीजाती हैं, क्या
िोंभावना है सककम िे कमएकगेंद लाल रोंग की है ?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

1. 520 , 532  , 508  , 544  , ?  , 556     

(A) 440 (B) 496 (C) 500 (D)510 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

2 . 2033 ,  ? , 2054 , 2075 , 2103  , 2138

(A)2040 (B)2000 (C)2045 (D)2060 (E)2020
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

3.   20 , 12 , 14 , 23 , 48 , ?

(A) 120 (B)122 (C)150 (D)140 (E)130
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

4. 19 , 20 , 42 , 129  , ? , 2605

(A)700 (B)1200 (C) 520 (D)450 (E)800
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

5. 302 , 142 , 62  ,? , 2 , -8

(A)32 (B) 22 (C)25 (D)28 (E)35
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Q . (1 to 5 ) : - Direction for Question .  Study the table given below and answer the 
following Question
नीरे् दी गई तासलकाकाअध्ययनकरें और सनम्नसलद्धखतप्रश्नका उत्तर दें ?

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)280 (B)270 (C )220 (D)300 (E)240

Find the average no. of employee other than HR dept. in A, B and C together?

मानविोंिाधन सवभाग के अलावाअन्य सवभागच ोंमें A, B तथाC में एकिाथकमचर्ाररयच ोंकी
औितिोंख्या ज्ञातकीसजये।

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)36 (B)42 (C )48 (D)40 (E)30

Find the difference between males of HR dept in company C and D together and females of 
HR dept in company B and C together? 
कों पनी िीऔरडी में एकिाथ एर्आर सवभाग के पुरुषच ों के बीर्अोंतरऔरकों पनी बीऔरिी में
एर्आर सवभागकी मसहलाओों के बीर् एकिाथअोंतर पाते हैं?

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)60% (B)80% (C )75% (D)50% (E)55%

If total no. of employee in E is 25% more than D and no. of employee in HR dept is same as 
in company C, then employee other than HR dept in company E is what % of other dept 
employee in company B ? 
यसद E में कमचर्ारी की कुलिोंख्याD िे 25% असधक है एर्आर सवभाग में कमचर्ाररयच ोंकी िोंख्या
कों पनीC के कमचर्ाररयच ोंकी िोंख्या के बराबर है, तच कों पनी E में एर्आर सवभाग के अलावा अन्य
कमचर्ारी कों पनी बी में अन्य सवभाग के कमचर्ारी का सकतना% है?

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)250% (B)200% (C )100% (D)300% (E)150%

Females in the HR dept of company C is what % more than male in HR department of 
company A?
कों पनी िी के एर्आर सवभागमें मसहलाएों कों पनी ए के एर्आर सवभागमें पुरुषकी तुलना में% 
असधक है?

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)54 (B)45 (C )49 (D)50 (E)52

Find the average no. of Females in HR department together?

मानविोंिाधन सवभाग में मसहलाओोंकीऔितिोंख्या एकिाथज्ञातकरें?

E04613

Company Total
Employee

Employee
in HR dept

% of 
female in 
HR dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Direction for Question:-1 TO 5

The line graph shows the data of five seller
selling an item(in units) on Monday and
Tuesday.
लाइन ग्राफ िचमवार और मोंगलवार कच
एक आइटम (इकाइयच ों में) बेर्ने वाले पाोंर्
सवके्रता के डेटा कच सदखाता है।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)71% (B)80% (C)55% (D)85% (E)65%

1. Item sold On Monday by C and E together is approximately what percentage of total items sold
by A and B together on Tuesday ?

C और E द्वारा िचमवार कच बेर्ी गई वसु्त, A और B द्वारा मोंगलवार कच एक िाथ बेर्ी गई कुल
वसु्तओों का लगभग सकतना प्रसतशत है ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)150 (B)180 (C)160 (D)120 (E)200

2 . Find the difference between items sold by B, D, E on Monday together items sold by B and E on
Tuesday together?

B, D, E द्वारा िचमवार कच बेर्ा गया B और E द्वारा मोंगलवार कच एक िाथ बेर्ी गई वसु्तओों के
बीर् का अोंतर ज्ञात कीसजए ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)25% (B)30% (C)20% (D)15% (E)24%

3 . Items sold by B and C on Tuesday together is what % more than same sellers on Monday
together?
मोंगलवार कच Bऔर C द्वारा एक िाथ बेर्ी गई वसु्तएों िचमवार कच िमान सवके्रताओों की तुलना
में असधक है?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)298 (B)305 (C)280 (D)300 (E)315

4. What is the average no. of items sold by all five sellers on Monday?
िचमवार कच िभी पाोंर् सवके्रताओों द्वारा बेर्ी गई वसु्तओों कीऔित िोंख्याक्या है ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)250 (B)280 (C) 300 (D) 320 (E)350

5. The no. of item sold by A and C together is how much more or less then items sold by B and D
together on both days ?
A और C द्वारा एक िाथ बेर्ी गई वसु्त की िोंख्या B और D द्वारा दचनच ों सदनच ों में एक िाथ बेर्ी
जाने वाली वसु्तओों िे सकतनी असधक है?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

16 .  A train travelling at 72 km/hr. crosses a platform of 160 m in 18 second and another 
train travelling at 90 km/hr crosses the same platform in 15 second. Find the length of 
another train? 
72 सकमी / घोंटा की यात्रा करने वाली टर ेन 18 िेकों ड में 160 मीटरका एक पे्लटफॉमच कचऔर 90 
सकमी / घोंटा की यात्राकरने वाली एकअन्यटर ेन 15 िेकों ड में िमान पे्लटफामच कच पार करती है।
दूिरी टर ेन की लोंबाई ज्ञातकीसजये?

(A)160m (B)180m (C)140m (D)200m (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

17 . If Pipes A and B can fill a tank in 15 min and 20 mins respectively and pipe empties the 
tank in 12 minutes. what will be the time taken by A, B and C together to fill the tank 
completely?  
यसद पाइपA और B क्रमश: 15 समनटऔर 20 समनट में एक टैंक भरिकते हैं और पाइपC 12 
समनट में टैंककचखालीकर देता है। टैंककच पूरी तरह िे भरने के सलएA, B औरC द्वारा एक
िाथ सलया गया िमयक्या हचगा?

(A)25min (B)30 min (C)40min (D) 20min (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

18 . If a person invested 6000 at R% S.l for 3 year and same amount at (R + 5)% CI for 2 
year and difference between both interest is 60 Rs. then find R ?(in %)
यसद सकिीव्यद्धक्त ने 3 वषच के सलएR% S. I पर 6000 औरउिी वषच (R +5)% CI पर 2 वषच के सलए
सनवेश सकया हैऔर दचनच ों के बीर्काअोंतर 60 रु है तचR खचजें? (% में)

(A)15 (B)18 (C)20 (D)24 (E)None of these

E04613
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19 . If ratio of ages of P and Q before 4 year ago is 5:4 and after 12 years sum of their ages 
will be 68 years, their what was P's age 2 years ago ?
यसद 4 वषच पहले P औरQ कीआयुका अनुपात 5:4 है और 12 वषच के बाद उनकीआयु का यचग 68 
वषच हचगा , तच P कीआयु 2 वषच पहलेक्या थी?

(A)24years (B)22years (C)18years (D)26years (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

20 . P invested 60% more than Q and R invested 20% more than Q. If ratio of investment 
time-period (P: Q: R) is 2: 4:3 and the sum of profit shares of Q and Ris Rs. 8550 then find 
the profit share of P?
P नेQ िे 60% असधक सनवेश सकया है।औरR नेQ िे 20% असधक सनवेश सकया है। यसद सनवेश
कीिमयावसधकाअनुपात (P: Q: R) 2: 4:3 है औरQ औरR के लाभ शेयरच ोंका यचग 8550रु है।
P कालाभ शेयर पाएों ?

(A)Rs3200 (B)Rs4000 (C)Rs2400 (D)Rs3600 (E)None of these

E04613
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21. If a boat travels 18 km more in downstream than in upstream in 3 hr. and if the speed 
of the Boat in still water is 20 km/hr. find the distance travelled by boat in downstream in 4 
hr. ? 
अगर एकनाव 3 घोंटे में उर्ध्च प्रवाहकी तुलना में अनु प्रवाह में 18 सकमी असधकयात्राकरती हैऔर
यसदअभीभी पानी में नाव की गसत 20 सकमी / घोंटा है। 4 घोंटे में अनु प्रवाह में नाव द्वारा तयकी गई
दूरी ज्ञातकरें?

(A)86 (B)92 (C)68 (D)96 (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

22 . When a person sold an article, his profit percent is 60% of the selling price. If the cost 
price is increased by 75% and the selling price remains the same, then find decrement in 
the profit is what percent of the selling price of the article? 
जब सकिीव्यद्धक्त ने एकवसु्त बेर्ा, तच उिका लाभ प्रसतशत सवक्रय मूल्यका 60% है। यसद लागत
मूल्यमें 75% की वृद्धिहुई हैऔर सवक्रय मूल्यिमान है,लाभ% में सगरावट वसु्त के सवक्रय मूल्य
का सकतना प्रसतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these

E04613
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23 . If a shopkeeper marks an item 50% above its CP and if 12% discount is given on the 
marked price and the shopkeeper makes profit of 256 Rs, then what will be the actual cost 
price of the item?
यसदकचई दुकानदार अपने क्रय मूल्य िे 50% ऊपर मूल्यअोंसकतकरता है, औरयसदअोंसकत मूल्य
पर 12% की छूट दी जाती है और दुकानदार 256 रुका लाभकमाता है, तच वसु्त की वास्तसवक
कीमतक्या हचगी?

(A)1000 (B)800 (C)750 (D)1200 (E)None of these

E04613
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